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INSTRUCTION FOR STUDENTS
Please read the folluwing_-_instruﬁién-caréfﬁ||y'f and then answer the question on
OMR answer sheet. ! 4

1. T:_:'his paper contains PART-1 (Mental Ability Test) questions.

1 MENTAL ABILITY TEST (MAT) 1To 100 | 90 Minutes | 100 |

2. This section will be 90 minutes.

3. -'A'I\I"'.questions are compulsory.

4, Theblank pages aré .give'ri'i:r'xzthils'ﬁUestion '\bookiet for rough work.

Ist have to submit the OMR Sheet to the invigilator on completion

the examination.

(ENGLISH)/102 ' 'Pagetofts - [CONTINUE]

R e o e M e ks RS T B g S ol B




I

e e

~ PART-1: MENTAL ABILITY. TEST (MAT) - ; :
‘Instruction: In each of the following question no.1 to 10, a riu er series is given with missing of one
term. Choose the correct alternative that will continue the same pattern and replace the question mark

(?) in the given series. |

e et O3 © 3

v
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T2, 1,7

(A) 18w (B)0020 (¢} A9 (D) 23

a1, 198

(A 14641, @ wm o © wa @ adl)

;‘E‘aﬁé 320,268,296, % . e s ot a

Yo, o W e ) s

5 [3,15,57 391, 7, 2359
1w 177 - (B) 1084 © 1711 (0) 1958 |qp
; = | el ¥
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B0 135 o8 w0 @ w8 () 238

@ 2018, @ 192150 D) 19,20 |

(=

31, 2197, 4913, 6859, 7, 24389 )1 TR
(B 921 . .. (C) 12167 . 4o).. 15625

L @ m® (€ 12,108 - (D) 114,103

© 16

a0 - 5”' 5 ;
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Instructmn In question no. 11to 20, ftgures are gwen with questlon mark (?) Complete

the figure replacing guestion mark (?) with suntable number logically.

11 | How many line segments are there‘i_n the given figure ?

1oy 12 ® 13 @ 1! — (0 15

12 | How many line segments are there in the given figure ?

v :@-"_'19 (8) -8 (o) 17 (o) 16 &

13 | How many triangles are there in the given figure ?

o 0K 26 (B) 22 €) 18 - (D)

14 | How many triangles ar,e\there_' in the given .ﬁguré ?

o (Al B (8) Ga ©) 14 (D} 10

15 How many triangles are there in the gwen ﬁgure P

o [ imeaes (8) 23 (c) 19 o) none of these

16 | How many squares are there in the given figure 7

:Ii}-—'-‘,--._.(A) 16 ®v ©n (© 13

17 1 How mahy squares are there in the gtven figure '? .

W @oa @) (o) 3

~Answer quesﬂon no. 18 to 20 on the basrs of gwen ﬁgure

_(ENGL;SH)moz o Page4of16

18 How many lme segments are there in the g;ven figure ? Bl
. | (A). 33 . T E ) 36 (D)542%,
119 -__How many. tnangles are there in the given fgure" ‘ R 3
SPEmy (AJ 1l (Byl6 - . ' {C} 22 (D), 24
20 | How many squares are there in the g[ven ﬁgure ? At
S (Al AR e (c) 7 (D) 8
- [CONTINUE]
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% "'-"Instructlon- In question no.21 to 30, English alphabets are gwen d|g|ta1 number/code Usrng
-"them, find the correct digital number/code for given English wurd by choosmg the correct option

_gl\.ren helow

o

21

B,F, &N R V,Z D HL?

& o

P et

ABC, EFG, JKL, PQ?
3 T o

® R (8 S ©

T. (Dj U

/23

©

G (D) cc

@) BoK

AHL 2 ,CFJ, DEI
BGE

® BKG """ SR

GKB

(6) GBK

25

RA/M'

5 lIl v

fA) 2 ie

g ) w

9

_Al Q; Fv J: Q, ?., B

12 34
(A) 1

e e

& 9.0 45720 S
w R () L
30 s

©)

U2 TUPLUBTU P LUBT_\.Z_.PJ.-_UBTUP

~(B) BUPL

et

(©)

LBPU (D) PBUL

(B BX17.

cY17 (D) cY18

30

ABC 6 EFG 210 UK, ?

1u 1]

W o @

{c)

999 (D) 990

0 40. One of the figure differs from the

A (8)

4R

' Page50f16
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.32

;0;

(A)

(B)..

33

(&)

Dk | Po|

(8)

I

(8)

36

—slle [C_|I&

(A

()

37

()
S

38

\OY

A !

o

e4B)

A\
&

S

39°

e S

(B) -

c)

AN ik
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: 'i'h:ét:fltjction In questlorf no.41 to 50, English alphabets are given digital numb'er/cdde U's'lng

%aD‘i‘FCrHJ:—jL Lrnworc;m—rwuxvz_ 3 35

3

-_-them find the correct digital number/code for given Engllsh word bv choosang the correct optlon
given below. : Sp
C? If CAT is wntten ATC in szgn Ianguage DEAR is wrltten EARD in-sign Ianguage
: . Then, How s:gn will be written in sign Ianguage
bl INGS 135 L (B) Nes © SNGI (D)‘- SGIN
s Al :
\4% If ' no more food ' is written ' ta ka da ' in sign Iangauge and "'more then that' is
wri‘tt'e‘ri "sa pa ka' then whé’t'wiii be written for " that ' in the sign..
(A) sa (B) ka (c) saand pa L_)_ incomplete mforrnatlon :
{a3|If LAP is written KMZBOQ in: 5|gn Ianguage then what will be written for NOTE éu
gl 5 MON
(A) MONF’SUFD (B) MONPUSDF (c) MNOPSUDE ,n) MONPSUDF
|22 [FE= 5 and EMPIRE = 66 ff1en what Wil be wiitlen for REPAR? e 3 -4
t ; e A
(A) 66 (B) 67 | (€)1 (D) 13 jq o
: I
45 | If SSC is wntten 19193 m S|gn Ianguage then whai wnll be wntten for BBC ? 5
® 113 | (B) 20 o, © 213 3
46| If CHARACTER is wntten 24161 2376 and CHILDREN is written 24859670 in sign
Q {angauge then what will be wrltten for HIRALAL ? "'Cf L\515 _
(A) 4861551 ® 4861515 © 4355151 (n) 463i515
If APPLE is wntten ETI'PI |n 5|gn Iangﬁage then what wlll be wntten for DELHI ? 27
(&) HIPLM ¢y ZAHDE (c) HPILM (D) CQMND
DOCUMETNS is wntten VDPENRSMD then what wnll be written for ADVERTISE?
"WEBDSRHS (B) FWEBSDRHS ©) FWBESRDHS (n) FWEBSFMLD
49 | and AND =19 then what is for BAT P e :
: _uaJ, 23 ‘ (c) 21 (D) 20
_gg)_. $37* (D) $*3¥
e = '::7. e -;:_ : Hl
; : ﬁ/ MmEAN
}quhﬂfqi’ R CgreE - - $ Y. 7 DOME
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Instruction: Four option aré given in'question no.

51 to 60. One of the option is differs from the

151

(A) Iroh

rest. Find out that different option.

(B) Silver

©) ' Gold

(D) Brass

52

cotton -
gé-) tea’ '

8) milk:card (C)

grapes :
wine

(D)’ bamboo: paper
a0gi pap

53

(A) 6023

(B) 7202

(c) 4025 :

(D) 5061

(A) Wiiter

B - _.I__._-..,,
((__), Publisher

~(c) Poet |

(D) Novelist

5.

| (&) Violin

(8) Sitar

~ {C) Flute

(D) Veena

56

(A) Conclusion

(B) Research

(©) Analysis

(D) anestlgatlo

: 57

A

(D) Radiology

(A) Pathology

(A) Sports:Coach

(B) Biology:

(B) Dfémé:Director

ey .Cardiolo_g;y

(). Advice:Adviser (D) StudentTeacher |

| 59

(A) Plastic

(B) ‘Nylon

o) Bl

(D) Polythene

&

) B:_aﬁgkok

(8) indal

' ‘"(C)_ _ Réhgdo_n

(D) Kabul

[61] 4T

- Instruction: Find out the correct mirror image in question ng.61 to 65.

@ (e

62|

(KL ISt

* = 3 )

. ! 1..’.

63

LB) - ey

mE s (©)

o5

(A)

T e (©)

(D)

| (ENGLISH) 1102
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i -_‘(5) Q-‘?ﬂ@?naw Ce_!ebra_tlanS"' g L e
(K 21345 = B) 234548 i {©) 3_;'1;2:_4,5 O 32145

Instruction: 'Find out the correct co-relation in question no.66 to 70.

66|

Indla Ashok Chakra, France : 7
®*) Eagle (B) Lily (©) Rose (D) Lotus

" Tondon - Thames, Delhi -

(A)  Yamuna (B) Godavan (©) Krishna . (D) Kaveri

India : CBI Paklstan 7 . ‘
[TA) NDT (8) 1s1” (C) cBSE (D) none

()

i,
b
AN

Al o
w |8 o — @ |& © &

-;Instruction Accordmg to the questlon choose the correct option logfcally in questlon
110 71to 75. ;

i f 71

(1) Index (2) Contents (3) Tltle (4) Chapters (5) Introductlon

(A) 23451 (B) 35241 ~ e 514,23 (D) 32514

Embryo (2) Chlld (3)FBaby (4) Mlddle Aged. (5) Young
e

kT :
13452 (B) 13524 (c) 13254 (D) 1,3,4,2,5

'_ ty (2) Population (3) Death (4) Unemployment (5) Disease
.- ,__,1'53 () 12345  (C) 23851 (D) 24513

. 74'

( ) Acczdent (2) Judge (3) [goctor (4) Lawyer (5) Police
i ra

@ 13425 [ ® 1354i © 12345  © 12543_'

(1 ) Golden Jubtiee"?(z) Sln or )

(ENGLISH)

it}

7102

e iceNbmog |




Instruction: Follow the in'st'r{.lcfien __anﬂ choose the_.ce__rrect.option in question no.76 te 80 .

76 | If x means +, = means X, + rneans_.-— and — means = then 24 + 36 — 12 :8;4 =2 |2y-34 2 }_;_+:1I: |

() 36k o (B) Rl i OREC - e B i |
S 77 If-—meane+ —meansx xmeane—and+means—~then 15—8xs—12+4—‘? 5 i C!A

i : P e #,. ’

() 20 "(8) 3_ : (C_) 2? . @- 28 Ll Taesirey

78 | If + means +, — means X, + means — and X means =then 14 — 4 x 7124+ 8=7 1
' : p e By S lax 4 =74 12
Sl 'y

| @ % Ry a0l g b (0 8 ¥
* [79 [ If = means X, + means =, — means + and X means — then20 — 16 + 4% 3 +2 =7 | 20 +/474-3
: (W) 16 i e s B 0 24 ¢ |es2
80 | IFA'means —, B means <+, C means +, D means X then'  [15B3C24A12D2 = 2. = 24 '.{ .
N =i s e S (e L i S
by 3 (8) S @ F~h U¥y 5 L Eh {
: lnstructqon Follow the mstructlen and choose the correct answer from the optlon :
(que: no.81 to 100 )
y If third Frlday is on 16th ofa month Ihen what will be the date offour!h Tuesday of same
f ilmonth?. T S i BT : é
FOER o (8) 22 - © '-2'7'- i, Y
. o~ X . . g 2 - ; ‘;)L '; 4
82 Today is Monday. Whleh wi il he the day aﬁer}65 days P _ j
,_) Wednesday ( ) Fnday (C) Saturday (D) Sunday
| 33 1st.1anuary. 2000 was Saturday lhen which day w:ll be there on 1st January. 2001
e (___) .Monday (@ Tuesday - o) Fnday ; (D) Saturday. : : [ |
34 Wh|ch_ _II"be the Leap Year‘? _ S ; TR
v _ (')!.9 : 2800 (B) 1800 (©) 2600 Sy (D) 300 - ]
i 85 JRis sister ef M and M is brother of H. D is rnether ofK and K is brother of M then what 3
= ;-lS-ihe relation between R and D2 i ﬂs&m "Bﬂ ”’&50’“ :
TR o ( P Sister o _{ ) Daughier : fC) Mother (D) . Incemplete |nformat|on
b & 86 : K is brether ofT M |s\mqther of K, Wis brelher of M then what is the reIat;en between '
Wa“dT" G ) S :
; (ﬁ) Maternal Uncle ( .)_ Grand Father _(C) PaternaIUnele' (D)« .None,of these 7 4
lENGLISH) 02 | Pageeg_ 16 - [CONTINUE] |




87

\\_L

Mahan pointing his finger to a photo and said that "The “only ch:ld of his mother is the
only son of my father." Then whose photois Mohan pomtlng ? ;

2l
oh

| (A) Brother L).. Himself (C) Paternal Cousm (D) Maternal Cousin
/What wm be my relataons wrth the daughter of my paternal aunt's father's son ?.
Ni
.(A-) Paternal aunt (B) sister . (©) i AT
. (Brother’ Daughter) (Sister's Daughter)

89

X and Y are brothers. R’is father of Y.Si is bro r of T and maternal uncle of X. Then

what is the relatlon of TandR 7 A : | \
: e 7 '
@ Wife : (B) Mother .- (63 Sistar (D) Brother

A clock i 15 kept in a way that at 12 o'clock its minute hand isin north east dlrectlon Then
‘what will be the direction of hour hand at 1:30 ?

@ Non - (®) south . - ©) East ) West

If south east is north and north east is west and goes ahead in same direction then what

| will be the direction of west ?

(A)  southwest ~ (B) northeast ©) southeast () north west

92

again before reachlng the station, in which dlrecnon the station will be frorn the starting

point of the train eI ;
3 ! 1233/
(A)  south east (B) north west (C) (,_l south west

A train runs 120 km in the west, then it runs'30'kr'n' in the south and 80 km in the east :

Ram stands out towards the north, He wall-cs drrectly (straight] 10 km. Then he turns left
and walks 15 km and then turns left and walks 10 km. Then how far is he from the starting
point ? 1 [0

_(A) 10km  (B) 5Kkm (c) .12km (D 15km

A man walks 3 km ncdh from his’ house Then tums Ieft and waiks 2 km Then turns right
‘and walks 1 km. At Iast he tumns | nq and walks 5 km How far is he from his house 7 - :

.east. How faris he from his starting point ? Lo : | .
AW skm - ® 12/m, © 15km (D) 10 km

e

Proportion ratio of the age of A&Bis 3: 2 today. After 5 years |t wlll be 8.:7. What is

thes: ‘theageofboth'? 4 g 'ﬁ" 5+ : %ﬁb _,‘g_;_

(B) Syear

)i 10year .~ (D) noneofthese’

:Sum of Luky & 3 man age is 35 yea today Proportlon ratio w:ll be 4.: 5 after 5 year:s

_ (ENGLISH)

/102

b

T

' "What is the age drfference between'them now T - " "rj 35 }g_-‘%; 1,‘% ; brﬁ
(&) Byear: (B) Byear ' (C) 5Y‘-‘35,G. o P dyear, .oh |
. f}:’r ’—‘39 xxS Td 10 (Q)L'-\_' 2 ;
\3 o Dol o= M A 'f;%;
- ° ' [CONTINUE]
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98 | Father'sage is 8 years plus ofthrice son 's age. Mother's age is 3 years more than father's
age. If son's age is 7 years then what i |s the age of mother 2
| (A 26year . (B) 29year © 32 year (D) 35year
)| There are 3 red 5 yellow and 4 green balls in a box |f 3-balls are randomly taken from
.| the box. Then what is the probablllty of taken balls P : )
a0 005 (8) 220 (€ 320 (o) 420
1100 | If16 persons shake hands ina party then what will be the total number of shaking hands
be comblned‘? %
5 (A) 120 _(?_‘)‘ 256 _ ; ( ) 110 - (D} 100
i e S
#
# 3 X2 |
77
X\ 3
N
'\\ o i
?
E:i;(- . w:*
(ENGLISH)MO02 - Phgedoaks . - [CONTINUE]
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'Pleasé"'l"éad the foii‘bwirj_fg_"Iii":rj"s'__tjlfgj'&'l"iin cai  and then answer the question on

_.."OMRanswer sheet St i M > e

2. This section will be 90 minutes.
3. Al questmns are compulsory. G '

5 'You must have to submit the EJMR Sheet to the mv:gllator on cmmplet:on
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© PART-2 ; SCHOLASTIC APTITUDE TEST (SAT)

Tlagile Y . o 5 o
2 B B0 LY Wl S - S (By"A'UB (C) AuB . D) Aﬁ._-B

2 | The suppl'em'eﬁ'tér'y angle of the complementary a'n_gle of angle having measure 23 has

sasure .

(A).'é:r'* (8) 90 . \/13 B ) 3

' ,3 [ The width ofthe class 55. 5-60. 5is T .
>‘\-(A) o ®E \ec/z 5ot e M
& Tm\me altitudes of AABC. 1_'f_=A"':,.=;i;ﬁ_'cm_. BC = 16 cm, BE = 8 cm, then

‘\_/ 3l : an. : _- i h i : : S i, o,

il ﬂ (B) . 18 _ (C) 24 =% (D) 10

175 Wdorof the polynomlal x> + 4::' = 3x 18 is x + 3, then the other factor s

1@ 22+x RS 2 {B) x Tx+6

z+x-‘t’,_):_-"_ e . (D) x2—x+6

ﬁc D of two nurnbers is B and 1he|r product is 384, then their L.C.M.is _ .|
(A 24 : (B) 16 e _.,.,__(C‘) G gt o ADyAE T

Tl The sum of the Zeros of 3x2 4+ 5x

-210s R

s

_ & | Tina two digit number, the digit at unit place Is y and the digit at tens place is 7, then the

‘/ S A) IOy T ' (B) e &.(9)470 (D) 10y+7 .

9 If the correspondenoe ABC HEFD is'a snmaiarrty in AABC and ADEF then __ of the

lu’ll_qmmtrue

ARG AL
(A)
DF DE

"AB TR g AB ]
= m)
RF e DF ~ BF

. ‘i';a’ : . 2 ol ®

ofa square is 5\/_ The Iength of the side of the. square s

10 A ﬁ”/ﬁ i R gt © zr

'[ch“;FiﬁUEl |




// % 9} :

12

L A® @o)

The foot of the perpendicular fr

B2 @ ) ey

m P(-3, 2) to the Y - axis is M. ;::mbrdinates of M are""‘__

3

S

VLS

LSBER )

(D) 6

T LT e ———
Lam 7 g 8T T e s
edAéC smzA +ssz +Sm2£'-__ . -
- S S (B) 1 ©) o (D).}‘I
% % Cmmﬁ@(ﬂ5me%0(0mTMMMEmMWWNMdeM—
g | :
z A 8 f”='__ A8 10 4//;55 7

A card is selected at random fmm Welt shufﬂed

' ,Séle/u':t;l_c;rd is not an ace I8
/

pack of 52 cards. The probahlltty that the

T : ; Ha "3
G .8 -.(B>..-.—- L oalbe ) T

Two ba,lanced droe are thrown once The prabablllty of getting sym of numbers is desane

is not the factor of the p’fx).:

wz(xm ]

9/ oL

La

| =

are the zeros of a polynornla! p(x), then .

(B)x\f-

(C) x2 -3

><'
WAR

-

B0 | 3175 ;
3125 rep a e ts

(B) A non-recumng decamal

(D) An Integer

@) 10

s  [CONTINUE]



Whatis speed of light in glass ?

45{’.;._)(1083'ms‘1 L e vl (B) ~2:25x10°ms'! . R

| ©) 3x10°ms" (D) 175x 108 mst Vikin oy
1" Which "'e'quation'?-not repre‘sé'ﬁt Snell's law 2
1-1-2 sm&i POk e S ; : ®) g _siﬁﬂz .

Ny SNy G L algt

/‘Mz

G 151:191 = nzsmﬂz et Msm&é = npsinfy ; : i

; Natlonal smence day celebrates on £ ; : 5
a0 (c_) April 28 -Mbruary 28

5 wza . (3) Januaryza

. L When amilky and cloudy Iayer is formed on the eye lens of pjd age persnn -they Iosa ihetr

_ms:errparhally or completeiy ThIS type of srtuatlon |s called

4 (A) Myopia IR Mtaract ________(C) Hypermetropia - (D) Presbyopia'_

Determme the equwalent resistance betwean pomts x and y in the followmg r:trcuﬂ

50 (B 120 . (©) 92 (D) 6@ ¢
' Which for" oy for R 2( R = Resistance ) he s
' ":(A) dG; o -‘:(C)' ol e A

": ,Wylch is not correcl ‘? o
i (A) Acid + Base e Salt ¥ Water (B) Ac!d+ Metal oxide — Sall * Water

n- Meta[ a)(Ide+Water - Base (E}) ‘Base + Metal — Sa!t # Hydrogen + Water

Whichisweakamd? CER .
1 '_-,\M--Oxahcacmu--: e e "__ " (B) Hydrochloncamd‘ o

28 ('D)'- Salphunc atia

(C) Nitnc acid

TR

2 /pat is chemlcal formula of mifk af magnema ’? p

i .:.(C) Mg(OH)s M(oﬂ)z

How many !ong wire. can be drawn from a gram of gold ?

fometer (D) 200 meter

@ vavos @ wgso

_(J_\_). quntgmeter_ (B) 2meter -

Page 5ms _ [CONTENUE]
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2]

387

28
LG6EY )
‘oN 18peea

T

-

34 | Which alloy is used to preparation of statues 7

'er ®). Brass | .(C) Steal

£ (D) Duralumin =
(e
- @W is not. a step Qf metallurgy ’? : _
; i (A) Reductlon (B) Raa;’tmg '.-@)_'/(ft_:rrosion (D) - Concentration of ore
36 % respire through Iungs 2 i ! <
(A) crabs \/B/hzard i (C) sepia

(D) prawns

. Ana'erabie resplratlon takes place only fn

(A) Mltochondna (B) Glands (C) Lungs ;

dp}/Cyloplasrh

38 The small :ntestme receives the secrellon from

(A) Salwary glands |

(C) Lwer and Salwary glads

ey Leftauncle = (B) Left ventrlcle-_-;.-. (€) Lungs (D) Rightauricle
".40___ In the veli: of ileurn the absorptlon of lipids. lakes plaoe through |
: (A)"_ ' _=ymph ducts

:d_aaplllanes (D) Lymph vessels

B3) Lymph caplllarles _

42

W (C} Mammals Raptlles

; (A)_ F“shas Amphlbtans

Wh|ch amma!s in the ammal kmgdorn- require the maxunum amount of energy ? '
. (B) Arnphlblans Rep’ﬂles

Ehrds Mamh'lars

It is found as four small glands

(A__.Parathyrmdgland S

)' Pltuuarygland' : bt (o]

Adrenal g!arfa ; i

Thymtdgiand b

(D) MsH

' 120-210nm.

'_'i%‘diéﬁor_is‘is;preveﬁted by ozone Iayé'r in entering the® n

(D) 400-700 m |

- [CONTINUE].



3 -Whicﬁ '(:f ih_’éi_f)élllbwing groups hévé_.ﬁﬁ‘rfily}ri'lo'qf-lb'i_o;:lggradéble-cor‘tipon'antt};_? .
1. \ded, paper, leather ;
2. polythene, detergent, pvc
3. plastic, detergent, glass- g
4. plastic él_ass;.anim-al-duge-' T s
' ' ' - (D) 1a0d3

1 1and4 '_ (B ) enlyS

ocelerates umformly frorn 18 kmfh to 36 km!h in 5 sec. Caiculate the awelaratton

:I_(“A)- 1m$2 : (B) 3.6 ms? _. ey (o) 2ms"’ . D)+ 2.6 ms?

7 What isthe Sl unrt of momentum 2

: (A) gmw* (B gns! kgms' (D) kgms®

What is‘mass of Ihe moon ? e s R

~74x10%kg * (C) 6x10%kg (D) 7.4 x-102*"kg

A B

j (A) 6 x 102“kg

—

? boy of mass 50 kg runs up a stalrcase of 45 steps in'9 sec. If the' heigm of each sfeps

t5 - Find his poWer (Take g =10ms? )

275w (B) 350w (c:) 35w w 375w

i

Whan we gc fmm sohd 10 gaseous state the speed of saund R

; (B) ,mc,reases.qr decreases

(Cy Udaprmnsal | usl 6 RS SO et ! M LT SRR =k

"'(D)' CCI i

©) 100k |
\_(B(S\;'awng cream i

(D) Thomsen =

v



156 |, is alsd'-known a8 thei' sumide bags of Zcal. T
sy Mitochondna _ i Wsomes :

(©) Pla_stlds ki i L (DY Golgi Apparatus

57 ___-isnotan e}ﬁampie of simple Tissues.

.(A) Parenchyma _ () CoIIenchyma (c) Sclerenchyma (I?)/;Pﬁlc;e_rn_ P

st G AR, gt 52; ' Whlch s example o‘f the bryophyle G UE e :
¢ ., - o a spimgyra .~ (B) ulothrix ._ S HEE ulva (Dl/vueé:ntia‘-h
'r‘rf_l % % | : 59 _._is no’t an example of Echmodennata i :
9’ B g_ (A) Octnpus a ( ) Sea star (C) 'Ep’hiaus- _Wm}
60 WhiCh ré an iaxampleofchronrc d[seases’? i Z . * :
(A | Gommon toid (Bk)ﬁma © Fu | (B) Pneumonia
61 Who dlscovered the ! Cape of Good Hope'? .

- : \--'f A) - Vasoo—da-Gama ', . V'(_Ba/Barlholomew_D'iaz : Ry

(D) Prince Hanry

:!-of India ?

% (B) Wellesley

_ ._(D) Sir John Shore

ris " Peat_:e Process " ?

) 78

(B) Baanndrakumar Ghosh

\,(D) Mahatma Gandhi

Mﬁan

“[CONTINUE




7

"Who was appointed 25 the chainman of siaté recrganisation commission by Jawahartal

.‘.>< Nehruin 19532 '~ E Coier o 1

1A Mr-»--HridayhatH‘KUn'zru “ 7 (B) M K. M. Panikkar

) \we Fazal All

.....

~L (A): Socml

70| Who- saad thls To rule fhe reglme there pnnclples are the foundations. "

(A) Mahatma Gandhi :
'_(D) ADEE Rajendra Prasad

(C) Dr B. |< Ambedkar i
s abseni for a conﬁnuuus penod ofhow many days O

; 7 lf any member of the Loksabha

/jnp\ut mformmg the speaker th d-__vacant ?

e T

h'dles the cnmmal cases;s called T )

72 _The Judge who_
i ; \5{ Muncuf Maglstrate

_SesSions Judge

(ENGLISH)/P-21104
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76 | Gujarali Poelry known s Garba and Garbi are chiefly associated with which fypes of |
‘_lh "Bhakuﬂ? 3 .. . . : : . ; | ¥ : : 3 ."’..":. ,
(A) RamBhaki ~_(B) Hanuman Bhakii ‘ = 3

(©) Maerthakti s _'_,-:-_\'/m/l;rishna Bhakti

79 | Dholka is a place between whlch two fwers 17

'(A} ‘:Ngr__maga and Tapi i (B) , Sabarmati and Narmada ' o
9/

Sabarmati and Mahi  *

| 8 Whatwas bl.ult in Lothal to facmtate.the ShlpS oo
| LR
81 | In which language the earier Buddhist Iite_ra_tu_rg was written 2

C M . (B) Sanskit, (C) Magadhi L/aa( 'F_'alli__l_.-:.-

- 82 - The puler of vallabhl beIonged to which Dynasty ?

LGBEVL
‘oN JepicesD
o
(=]

(C) Pillar o i Gl

)Mgnrak Dynasty -~ (B) ViayNagarDynasty
'"(c) MughalDynasty . . . - Vansh Dynasty

thl has wnﬂen _'the book Bu Gamt 2 ’?

Shankaracharya- : T ha'skérac:héfya

! £ i
<&

8 . Hmdu caves are buﬂt durlng lhe relgn of'wh;ch dynasty '?

|

83

=1 N\ (C) Vaisayayan N e e '(_D)_ Maharshi Patanjah o gl -
84 5
>< (A) Ashoka Dynasty e (B) Maurya Dynasty '_

h ‘(C) Kunala Dynasty

] How much percentage uf. t _e totai-land

LJQL Rashtrakuta Dynasty

dla occuples Red Solt 7

(D) 40%

85
8 Leopard belongs to whtch famlly PR _ :
Phodier - 0 Doy LW

&/4 ..____:_Se.as.._-._. & (B}. .l_akes

‘Page 100716 S ndeoNTN




| 89 InWhi countryth%Bauxztewas‘fq}_ dﬁ {imem 19219 b :
Indla (B) Amenca ' ICJ Chma (I:Q! Ezauee

. 90: 20 % rich people of the country share 40 % of National income and the Poorest 20 %

"X people share how much percentage of National i moome ?

N 0% @ 2% u/vra-% \ oy5%
91 in-which year the Wor_lci--"lfl",a'__’dé.;'ﬁt__genisauon was es abhshed_? '
L) 1950 (B) 1985 - (€ 1995 - (D) 2015

"ferenee organised in 1972 ?

(B) Imphal in Indla

(D) Amenca in Washmgton

. '__(B) . 19?1

Concept of poverty was fi rst propounded by director;o "hlch organisation 7

W {B WHO' © ECOSOC w UNICEF

Acoerdmg to census oountlng of 2{}11 how many educated unemployed were in India 7

M. oo
T||I 2015 there were how many employment exchange centers were in our country 7 °

93

94

dals B
>< (A} 54Mllllon (B) 79Mllllon @/81 Milllon \MMBIm

| 96

o~ 908 i (B‘) 5 ) 1010 (DLA189

Accordmg to early hypotheSls ”*Vama System was based on how many occupations ?

@ 1 e 6 40y ‘o 2

| 8 [ In whlch artlcle of Indlan Constrtuhon Sch' Tribes are in_C_IUC_i_ed'_‘_? :

o j@/ Amcle 341 (B{ Articls 342

Gl i 99 Accordlng to whlch Artlcle, untouchablllty is total!y eradicated and its practlce in any form

). Aticle-29 (D) Arlile- 15

is prohlblted ?

N (At

; Amcleng(a) (C) Arllcle 341 (D) Aticle-25

s [ﬁ After whlch year Ten'onsm has mcreased in Kashmlr‘? :
' . (e) 1965 (A 1988 (D) 1999

(ENGLISH)P-2/104 - [CONTINUE]







